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The radius of () A, () B, are 8 cm

and 18 cm respectively. Find FB.
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If HK is a diameter in the circle, find owlid aa gl (il 2 Jké HK ol<13)
the measure of the arc mIJK mIJK (i all
QO130° a
O120° b
Ozz20° c
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If ]M is a diameter in the circle, find sl J gl aagl (Byilall o okE M ols 1)
the length of the arc JK, round to the e o g il ) i JK

nearest hundredth.

30cm
C/105°

O13.74m a

0Os.75m b

O1.83cm <
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Find the value of x. X dad 2a
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EF and ED are tangents to () H. .O H sl jlules ED EF
Find the value of x. X dad sa gl
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Find the value of x.
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Write an equation of the circle in the Tl Aliaal) 5300 dlalea i)
figure.
hy:
OG+4?+y+1?2=3 a
Ox-v2+@y-12=3 b
O+ +y+12=9 c
m O(x_4)2+(y_1)2:9 .d
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What is the area of the circular green fdaagall duilall sluadl) dad)l) dalus A L

region shown?
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Solve the following proportion: Al Caaliil) Ja
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14 7 14 7
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If ACFH~SVWZ, Find the scale
factor of ACFH to SVWZ.
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dgiLiiall OlaLasll yolgs

eliia Jalaa a5l ACFH~SVWZ 1S 13)
SVWZ aliaall I ACFH aliaall

A 8 ¢ s 5, v
20 16 5 4
& = I 3 W
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JH is a midsegment of A KLM. Find .x dad 229 .A KLM &liall Ciiaia & ]

=3

the value of x.
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Os b
O1s c
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Determine whether the dilation from A A B (a (2aaill) Sa) il S 1Y) L daa
B to A is an enlargement or a caaall Jalea aagl 2l . gl ol s ga
reduction. Then find the scale factor
of the dilation.
le
A
NB X
ol [\ \\
L |
1 Reduction
O’ s
il
sl 3
1 Reduction
o} :
ss 1L
* 2
02 Enlargement
.C
i S 2

2 Enlarmnamant
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In a scale of amap 1 cm = 50 km.
The distance on the map between

Point A and Point B, is 10 cm. Find
the distance between the two cities.

O50km

(500 km
00100 km

0250 km
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A replica of Burj Khalifa is 10 cm i 10 cm Adgh iy ddls ol aa £ igal
tall. The original Burj Khalifa is Easaill wbia La. 10 830 g.‘ha:ﬂ e Jsh
830 meter tall. What is the scale of ¢ aall
the replica?
Ol cm: 83 m a
OB. 3cm:1m b
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Find sin C. .sin C a4
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nearest tenth.
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